Homework 5: Due Friday 10/12/18
BLC150-Algebra Workshop

Name: M\ ¢

Exercise 5.1a: Multiply out the following and simplify when possible [Mostly distribution.]

E.g. 3x(x—y)=3x*-3xy a) 5(x+2y) =
Sx+/0y
b) 2x(x +y) = ¢c) (x—y)3x=
Ax? + RAxy 2% - Dxy
d) r(=3+x) = B e) r¥(x—3) =
-3¢ +YXx © = 3 =33
Exercise 5.1b: Factor out the Greatest Common Factor.
Eg 3x*-3xy=3x(x—-y) f) 2x? + 2xy =
ay(x L3 \/>
g) rix—3r3= h) rx —3r=
Y‘3(><-3> r(x—3>
i) 3x2—-3xy—-3= D 5x+ 10y = \
3(\/‘~><y—-l> S (x+2v)
k) 10x? —12xy — 2x = 1) 10x8 + 20x* — 40x%y? =
2x (5%~ by~ \) JOx*(x%+ 247 - */\f>

Exercise 5.2a: Using FOIL, multiply these quadratics out and simplify to the form x? + bx + c.

Eg (x+2)(x—5)=x*—-3x—-10

a) (x+3Nx-3)= i
)(?—-3?( *?JY_? = X *ﬁ

b) (x+4)(x+5) =

) (x—Nx+7) =

W Snd Ay 20 = X549 t20 | e B-T—4T = x =49
d) (4+x)(x+5) = &) (x+7)(x+7) =

2
204 i ks eI t20 | WrTFur Pt 4T = X/ AT

) (x-4)(x-5)=
Xz—f’x ~4y + 2O = ‘/2‘ 7% t 2O

g (x+y)(x—y)= L .
Wi=xXy+xy =y = XY

h) (4 —x)(5—x) =
2 2
20 —4y=8x +x =Y =Tx + 20

i) (x+6)(x—6)=
2
Wi —bx+bx =36 = X =30

) (x+4)(—x+5) =
X* —~ &% —4Ax +20 = Y-+ 20

k) (x+6)(x+6) =
$Z+lxt bxt36 = X r12xt 3




Exercise 5.2b: Factor these quadratics into the form (x 4+ a)(x + b). Use scrap paper if necessary.

2 _ _ - N — 2. =
Egl) x*=3x—-10=(x+2)(x-5) ) x \36 <>( . Q)(X - (0‘)
G (~0)=-3C

Eg2) x2-81=(@(x+9)x-9

m C+9x+20= (7 )(xt7) [mxP-49=
bz 20 > N L YN -
:F,JL;:(;!; @+ S')(\)(-.‘-({\. 7“(’?“>‘:—(_’7 (K"'?)\/_X ?-}
> i /

0) x?—9x+20 = p o p) x2—-9 =
™ / Fea 7 { + 7 .‘, i N -

—5 e (-4 = 20 <y ) A = X 2. (-3)= -9 (}/43[}\/ g)

_:’+-(-qu —Q? (7-*5’> _(,\/ ___{_/ )

qQ x2+12x+36 = r) x2—y?= _, . <

leSG [ ( N Mo _onas YA Yy =

G ’:: 5 \X ) (X )\ \/‘("/r 7 (X XY

20, = | ; N - 3 \2

(o+0 ) :f’y)r@/-(:){;@-(y(;)

s) x2+ 14x + 49 = t) 10x2-90 = /O(¥-9) . .
.—J'ff-___ 4g / Y, 2 = /O(;(J(B)(\/*B)
ro { )(-4»? \ Hint: Factor out a 10 first. The final form will be 10(x-?)(x+7?)
PR T T ) /

u) 2x2+18x +40 = 2y % 9, +20)
= i N
2( A5 )%+ 4)

Hint: Factor out the Greatest Common Factor firsi, ii:en proceed.

V) x242x+1=

R N CUICOMED)




